otal No. of Printed Pages—4 -
4 SEM TDC HST G 1

2016
( May )

HISTORY
( General )
Course : 401
( History of India from Earliest Times to 1526 )

Full Marks : 80
Pass Marks : 32/24

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. by e /TS O PRI et ¥ ¢ 1x8=8

Answer the following questions in one word
or in one sentence :

(@) iR @A 5@ wReE 1A @
Which is the oldest of the four Vedas?
(b) @I & T cm TaEAE R T

R ?
Which Buddhist text mentions about the

sixteen Mahajanapadas?

Plsl 542 ( Turn Ovef)



(2)

(0 ‘fa-Re ffRe IS
‘H-Rem’ e
F G T R e 2 =
0 was the emperor who adopted the

policy of Pp ..
Dig-vijaya* arma-vijaya’ instead of

(@) Wﬁmmwmwﬁﬁ?

Who was th
dynasty? e founder of Satavahana
“ mﬂfw G IR e o
ich d .
to? ynasty King Karikal belonged
0 wiER Re
In Whi:;jj,:i th W RS tafe 2
Wwas foughtp e First Battle of Tarain
(9) ﬁ“;?lq e .
ich Delhj g S & 7 ?
ul
M) - 3s Lakh aksh” fanate was also known
In w:?ch TS afSdr tafie 2
Was foungeqs ¢ Viiayana
2 - ,j,\m ed? gar Empire
Writ, P @ (P fofity)
€ short otes on 4x3=12
(a) ey (any three)
Arthashas tra
®) PR
S o

( Continued )

. oS SRet RPTR e R S S

Pl6/s42

45

(8)

() wf3ams R

Fa-Hien’s account
(@ FSw pre
Pulakeshin II
(e) FFRM

Sufism

41 12
Briefly discuss the sources of ancient Indian
History.

1 /Or
=31 ToTOR T (AREPTR 3471 1 1 12

Narrate the main features of Harappan

civilisation.

. WSWWWW‘IW? SRR

Ry @3 ST 2fezS I M R 2 6+6=12
Why did Alexander invade India? Why did the
Indians fail to resist the invasion?

s}t /Or

T S ~fod FRCIR Teard 1 | 12

Mention the causes of the downfall of the

Mauryan Empire.

( Tum over)



(4) "

5. ST PR M SF R ¢ oY ey WS w11 12
Give a brief description of the society and
culture in the Sangam period.

%<1 /Or
| QYR AP SRS IR 3 3 Ry @l
|2 12
Why the Gupta Age is called the ‘Golden Age’
of ancient India?

6. TFFHRER T oF oo ST ofq 1 1 12
Narrate the histo
Rashtrakutas.

Ty of the rise and fall of the

ST/ Or

WWWW@W‘TWW?@
Sl 12

7. ‘Wﬁqmmwﬁw,www
PANRS 3ol Ro| 97 |

12
“Muhammagd bin Tughlu

S . q was a ‘wisest fool’
king. Justify the statem

ent.

12
Give g Pen Picture of the e co . ..
of the Delhi Sultanage, nomic condition
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